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i ——4——8—= —6—>9—2— C5,C8, C
A knot dlagranﬂ 3,7 3 4 pu 8 045’1006 6 Co 9 o 2 o 1 —>> C5,Cs,C10

Ideals for irreducible component#ﬂ)f Xpar

= ({b—wu, —u'® — v +6u®+5u” —12u° — 6u° + Tut — 4ud +u? + 20+ 6u+ 1,
u? +utt — 7wl — 60 + 18u® + 1107 — 1918 — 2u° + 6u* — 8u® + 1)
= (=T9u® — T4uM + - +47b — 143, 126u'° + 121w + - +47a + 425, u'® +u'® + .-+ 6u — 1)
=(b+1a, u—1)
={b-1,a*>-2, ut+1)

* 4 irreducible components of dim¢ = 0, with total 31 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-

drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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LI=(b—-—u, —u'®—u+.--+2a+1, u2+u't+-.-—8ud+1)

(i) Arc colorings
1
az = 0
a7 =
ayq =
ag =

as =

ag =

ag =

(ii) Obstruction class = —1

(iii) Cusp Shapes
= 2t — 10 4 1500 4 4u® — 41u" + 2ub + 46ud — 25u* — 14w + 2302 —4u — 1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, Cs5, €10 u? +3uMt o 2u -2
Co,C3,Cy U12 4 ull _ 7u10 _ 6“9 + 18u8 + 11U7 _ 19“6 _ 2’U,5 + 6u4 _ 8U3 + 1
C7,C8,C9
¢ u'? = 9u't + -+ 1020 — 22




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, 5, C10 y'? =1yt 4 20y + 4
C2,C3,Cy4 y12_15y11++12y2+1
C7,C8, Cg
€6 Y+ oyt 4+ 1300y + 484




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V—1(vol + y/=1CS)

Cusp shape

U 0.298602 + 0.6467641
a = —0.45214 — 1.664591 4.65271 — 3.280491 2.99435 + 5.253001
b 0.298602 + 0.6467641
uw= 0.298602 — 0.6467641
a = —0.45214 + 1.664591 4.65271 + 3.280491 2.99435 — 5.253001
b= 0.298602 — 0.6467641

u= 1.37505

a= 171226 —1.04846 —6.10990

b= 1.37505

u=0.527999

a = —1.99219 3.24831 0.826740

b= 0.527999

u = —1.50349 + 0.333681
a = —0.268985 — 1.3005701
b= —1.50349 + 0.333681

—17.04968 + 10.868101

—5.35737 — 5.740321

u = —1.50349 — 0.333681
a = —0.268985 + 1.3005701
b= —1.50349 — 0.333681

—7.04968 — 10.868101

—5.35737 + 5.740321

u = —1.54202 + 0.136441
a = —0.585241 — 0.5942151
b= —1.54202 + 0.136441

—10.10900 + 1.203461

—7.47592 + 0.430671

u = —1.54202 — 0.136441
a = —0.585241 + 0.5942151
b= —1.54202 — 0.136441

—10.10900 — 1.203461

—7.47592 — 0.430671

u = —0.245576 + 0.3681931
a= 0.577777 —1.1089101
b= —0.245576 + 0.3681931

—0.111574 4 0.9337711

—2.28396 — 7.382901

u = —0.245576 — 0.3681931
a= 0.577777 4+ 1.1089101
b= —0.245576 — 0.3681931

—0.111574 — 0.9337711

—2.28396 + 7.382901




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

1.54096 + 0.251611
0.368549 — 0.9970771
1.54096 + 0.251611

—12.33390 — 6.284131

—9.23554 + 3.979651

1.54096 — 0.251611
0.368549 + 0.9970771
1.54096 — 0.251611

—12.33390 + 6.284131

—9.23554 — 3.979651




IL. 1Y = (—79u'5 — 74u'* 4 - .- + 47b — 143, 126w’ + 121u'* 4 ... + 47a +
425, ul® + ul® 4+ ... + 6u — 1)

(i) Arc colorings

w=0)

o= (o)
- ()
N
u +1
a5 = —ut 4 202
—2.68085u!® — 257447y + - - 4+ 14.1277u — 9.04255
1.68085u!® + 1.57447u' + - - — 8.12766w + 3.04255
—3.06383u'® — 4.08511u™ + - - - 4+ 23.5745u — 12.1915
ag = \ 0.382979u'5 + 1.51064u% + - - - — 8.44681u + 3.14894
—uP gyt 4+ 6u—6
ag = \ 1.68085ul5 + 1.57447ut + - - — 8.12766u + 3.04255
3.04255u'® + 4.72340u' + - - - — 26.3830u + 11.1277
az = \ —0.106383u® + 1.19149u + - - - — 7.04255u + 0.680851
—1.14894u" — 1.53191u™ + - - - 4 10.3404u — 6.44681
a1 =\ 2.04255u!® + 2.72340u'* + - - - — 12.3830u + 4.12766
(ii) Obstruction class = —1
(iii) Cusp Shapes = fﬁu 54 %ul‘l + %um — quu + %6 wll + 28u10 — 84‘)76 9
141130 8 + 12;2 u7 + 34674 6 74078 us 44576 4 + 94278 US + 4172 ’LL2 _ ﬂ 4 24770



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1, Cs, C10 (u® — u’ — 3u® + 2u° + 3ut — 2u — 1)?
C2,C3,Cy4 u16—|—u15+-~-—|—6u—1
C7,C8, Cg
6 (u® + 3u” + 7u’ + 10u® + 11u* + 100 + 6u® 4 4u + 1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
¢1,¢s5,Ci0 (y® — Ty" + 1995 — 22¢° + 3yt + 145> — 6% — 4y + 1)2
C2,C3,C4 y16_13y15+_24y+1
C7,C8, Cg

6 (y® + 5y + 11y° + 6y° — 17y* — 34y° — 22y% — 4y + 1)?




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V—1(vol + y/=1CS)

Cusp shape

u = 0.396638 4 0.8835881
a= 1.00561 + 1.170061

b= —1.42845 — 0.22812]

—0.91019 — 6.443541

—2.57155 + 5.294171

u = 0.396638 — 0.8835881
a= 1.00561 — 1.170061
b= —1.42845 + 0.228121

—0.91019 + 6.443541

—2.57155 — 5.294171

u= 0.825972 + 0.6468151
a= 0.646365 + 0.5038371
b = —1.396840 + 0.0838571

—2.24921 4 1.131231

—4.58478 — 0.510791

u=0.825972 — 0.646815]
a= 0.646365 — 0.5038371
b= —1.396840 — 0.0838571

—2.24921 — 1.131231

—4.58478 + 0.510791

u = —0.558144 4 0.7662371
a = —0.792286 + 0.9530051
b= 1.41338 —0.100341

—5.44928 4 2.578491

—7.72292 — 3.567961

u = —0.558144 — 0.7662371
a = —0.792286 — 0.9530051

—5.44928 — 2.578491

—7.72292 + 3.567961

b= 1.41338 +0.100341

uw= 0.858124

a = —1.40539 3.21286 1.86400
b= 0.240055

u=—1.15431

a= 0.315320 —2.44483 —0.105540
b= 0.551002

u = —1.396840 + 0.0838571
a = —0.112641 — 0.6039911
b= 0.825972 + 0.646815]

—2.24921 4+ 1.131231

—4.58478 — 0.510791

u = —1.396840 — 0.0838571
a = —0.112641 4 0.6039911
b= 0.825972 — 0.646815]

—2.24921 — 1.131231

—4.58478 + 0.510791
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Solutions to I3

V=1(vol + y/—=1C5)

Cusp shape

1.41338 + 0.100341
—0.145831 4 0.8162171
b= —0.558144 — 0.7662371

u =

—5.44928 — 2.578491

—7.72292 + 3.567961

u= 141338 — 0.100341
a = —0.145831 — 0.8162171
b= —0.558144 + 0.7662371

—5.44928 4 2.578491

—7.72292 — 3.567961

u = —1.42845 + 0.228121
= 0.286014 + 0.9926051
b= 10.396638 — 0.8835881

—0.91019 + 6.443541

—2.57155 — 5.294171

u = —1.42845 — 0.228121

a 0.286014 — 0.9926051 | —0.91019 — 6.443541 | —2.57155 + 5.294171
b= 0.396638 4 0.8835881

u= 0.551002

a = —0.660569 —2.44483 —0.105540

b= —1.15431

u = 0.240055

a = —5.02383 3.21286 1.86400

b= 10.858124
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(i) Arc colorings

o= (1)
w= (1)
w- (4
w- (5
oo ()
w= (1)
w=(01)
e (2)

(ii) Obstruction class =1

(iii) Cusp Shapes = —12

II1. 1%

(b+1, a, u—1)
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C5,Ce "
€10
Ca, C7 u—+1
C3,C4,Cg u—1
Cg
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,Ce y
€10
C2,C3,C4 Y — 1
C7,C8, Co
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/—=1CS) Cusp shape
u = 1.00000
a= 0 —3.28987 —12.0000
b = —1.00000
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IV.I=(b—-1,a* -2, u+1)

(i) Arc colorings

w= (o)

a7 =
ayq =

ag =

(
(
(
-
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = —4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C5,Ce U2 )
€10
2
Co,C7 (u - 1)
C3,C4,Cg (u+1)2
Cg
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,Ce (y_2)2
€10
C2,C3,C4 (y_1)2
C7,C8, Co
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol ++/—=1CS) Cusp shape
u = —1.00000
a= 141421 1.64493 —4.00000
b= 1.00000
u = —1.00000
a = —1.41421 1.64493 —4.00000
b= 1.00000
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V. u-Polynomials

u-Polynomials at each crossing

Crossings

C1,C5,C10

u(u? — 2)(u® —u” — 3ub + 2u® + 3u* — 2u — 1)
(w4 3utt 4 20— 2)

C2,C7

(u—1)*(u+1)
C(u? 4wt = 7t — 6u? + 18u® + 11u” — 19u8 — 205 + 6ut — 8u® + 1)

(' u® 4+ 6u—1)

C3,C4,C8
C9

(u— 1)(u+ 1)
C(u'? utt = 7t — 60 + 18u® 4+ 11u” — 19u® — 2u° + 6ut — 8u® + 1)

@ Ul 4 6u— 1)

Ce

u(u? — 2)(u® + 3u” + T’ + 10u® + 11u + 10u® + 6u? + 4u + 1)?
S(u'? = 9ut + - 4 102u — 22)
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VI. Riley Polynomials

Crossings Riley Polynomials at each crossing

e, 05, c10 y(y —2)%(y® — Ty" +19y° — 229° + 3y* + 14y® — 6y — 4y + 1)°
Sy =1yt 4 420y + 4)

C2,C3,C4 ((y _ 1)3)(y12 _ 15y11 R 12y2 + 1)(y16 _ 13y15 e — 24y + 1)
C7,C8,Cy
c6 y(y —2)2(y® + 5y” + 11y° + 6y° — 17y* — 34y® — 22? — 4y + 1)?

Ay 4yt 4 1300y + 484)
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